FEOLE

INSTRUMENT PROCESSING SHEET

Agency F\/\/L('LT\/\ Coc)f\\“']

sm_Bo~ 00 1439

Alcohol Testing Program ¥
’ . Date 2/6/\] pate out_32 1919 @ship QP/U DH/D Qcwmi Dec
Intake Performed B{_\:}(\ ) Quality Checks Performed By =51 Flow Calibration Performed,ﬁy
0 Registration E Breath Tube Screen g Flow Calibration N/A
& Annual Bﬁ Replace O-Rings Flow Calibration Comp!ete O@/

B-_Return from CMI Instrument Set Up Verified Flow Column # ,{_2\ L’
QO Return from Enforcement d R-value _ 4D Q 5L/min-17mm 491&?
Electronics Flow Verification (L/s) ‘ O 15/min= &

Q other Fj Flow Column # ﬂTP/QS O 30L/min- 103&‘2&‘#0{& 0/’)

Visual Inspection: 32mm _ /%% (139-.169) [ Q R-Value
' Case _Q_Lg-Handle 36mm _ [0 (156- 190) | O Post Calibration Verrfrcatlon (L/s’ff‘o
Dry GasHolder _oj( Feet 53mm inu (.228 - .278) Flow Column #
Keyboard/Plug 3l Back/Plugs 103mm _(,_l@_, (.447 - .547) 32mm (:139 - .169)

A screws tight OHC Breath Hose Barometric Pressure Check 36mm (.156 - .190)
- T Gauge ID# 254 2] 53mm (.228 - .278)
Other Equipment: m Stability Checks 103mm (447 - .547)
Q Power cord Simulator | Serial # Lot #/Exp
O Printer Cable 0.05 S0 | le O3D| | Maintenance Performed By
&Y Other o oo (_, :?ngr 6370(1 2] -uff -1 | | @ Battery Replacement .

d 0.08 D e-l a7q 201z 0iF|| Q DryGas Regulator Replacement
{-e 1% 0 Breath Tube Replacement
Notes: 0.20 i 4( | Q _Other
DR 3855 5?!‘5?—?; - | Suggested Service
0.08 DGS N/A AG 08 (oA
9-328-1§
Optical Bench Calibration Performed By 5" | Department inspection Performed By ST -
O Optical Bench Calibration N/A Barometric Pressure Y= Gauge
" Optical Bench Calibration Complete o _RAEYA [O0[H Instrument
grometric Pressure Gauge /| 57P D# A (oq&ﬂ
Simulator ~_| Serial Number | Lot Number | Expiration Mouth Alcohol Solution Lot # ol -A
0.000 SDI0I N/A N/A Acetone Stock Solution Lot # oIl — B
0.040 SDI024 121D\ o - ‘g -Simulator : Serial Numbgi
0100 [SDIOIB | p001 [5-8-18 | |22 __ g‘zggifg’i
0-200 DR3865¢ [ (0103 [l-1%-\8||50s G169
0.400 Gag4e3 ioad |.2 22-18]|[0.08 DA
00800GS | WA [64015050AA -6 -7 _] | [020 DR3%55
B Post Calibration Stability Checks
_Simulator | Serial Number | Lot Number | Expiration Attachments
0.05 (22 2709 RAollbo3d |3-5-1¥ B Formal ‘B Optical Bench Cal
0.08 DRIATG B0iioiF -8 - 18 B Pre-Stability Tests Post-Stability Tests
0.20 D(Zaggg A1 04C | § - 5-18 O Flow Calibration Q Other
0.08DGS | N/A PGL2l 005 G-22-18

Notes: ((JC (@ &\\\R\ 1
— '

¥ Instrument Complies with Chapter 11D-8, FAC
8  instrument Does Not Comply with Chapter 11D-8, FAC

B Return to/Place into Evidentiary Use
QO Remain Out of Evidentiary Use - -

[ﬂ. Conduct an Agencv Inspectron Before Evidentiary Use

. 1(/’ 7z e Z P
Y AP 2/ / 3// z
Quality Control Review Date

Revised November 201
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